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In order to use the standard deviation, it requires fitting a linear trend line to the data 
(which I have done throughout my submission) and assuming a constant average over the 
entire time period. When we fit lines to data we look at the how well the line (model) fits 
the data based on a percentage type value, the higher the value the better. If the fit of 
the model is too low it should not be applied, for example in the Grey’s in Tibooburra the 
line fit which they base the thresholds on is 0.3% this is appalling and clearly the wrong 
option. For example, a good fit for a line would be at about 30 to 40%. The data does not 
follow straight trend lines and if thresholds are based on this – then mathematically this is 
wrong. This is not complicated statistics this would be included in first year University 
level – of which I have lectured.  
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Using statistical software, we can clearly see that the value of 269% (identified as the star  
in the graph below as 26) is an extreme outlier and does not reflect the pattern of data 
over time. This is a statistical conclusion and has no biological evidence – this data point 
(269%) is statistically unreliable. 

 

For the committee’s reference a normal box plot showing data that is reliable should look 
like the graph below:  






